HTET TGT S.S 2017 Paper
[19] [B]

qFT - IV / PART — IV
T e7egg / SOCIAL STUDIES

R : AT F5 % 6T &7 3 frg qad afed AT g

Direction : Answer the following questions by selecting the most appropriate option.

91. FHEM TEW F FA Teed § - 91. The legend of Satyakam Jabal is
mentioned in :
(1) 7Em™ 399z § (1) Jabal Upanishad
(2) FFEToaE IaaE | (2) Brihadaranyaka Upanishad
(3) eF=ra Iug & (3) Chhandogya Upanishad
(4) Fzag & (4) Kathopanishad
92. 9 RW g A # MM FT gq, W 92. Using the codes given below, identify
Z HETH AW & SwmeEsE @ the Vice-President/s of India's
TR : Constituent Assembly :
a. dlo To 7. a. B.N.Rau
b. THo Hio &= b. H. C. Mookerjee
c. dlo Flo FETHEN ¢. V. T.Krishnamachari
d. Fio dlo HETHT d. G.V.Mavalankar
(1) budd () awc (1) bandd (2) aandc
(3) Fa@b (4) budc (3) only b (4) bandc
93. AA Hewiics Fedh [HAH T § 7 93. The mid-Atlantic ridge is an example
of :
(1) @ dmrd (1) Divergent plate boundary
(2) @ArqEr dmrd (2) Convergent plate boundary
(3) drErEE dmra (3) Conservative plate boundary
(4) TRIEN-H2ErR AHar g (4) Continent-Ocean convergence
boundary
9. ‘TR frfaiag § A 9Rd @ 69 ae 94. 'Kayal' are a distinguished feature of
F1 UF fafyreear & ? which of the following coast of India ?
(1) F=z-Ffeamare (1) Kutch-Kathiawar
) #imveg (2) Coromandal
() For (3) Konkan
(4) "R (4) Malabar
Level-2/1212
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95.

96.

97.

98.

99.

100.

‘e o e @ & S # oy

g
(2) zvERRmEr &

(1) uzevg §
(@) B H (4) S A

2l 8, 99 IR TG 9 &N

(1) & F1 3AR oo ToeT

(2) ¥ FI AR FeEr ST

(3) i F AR ToEr G @

(4) X-379 3 FFR At 3@

A H@AUE § dgmae § afte 72
B

(1) T F &5 ToE af T

(2) Rl qeal & [Hard

(3) T4 wd a5 i qrefeg

(4) TG HrEA & faia

i T9q J8RT (A = 9RadH, y = o
0§ s = g9q) = ‘

(1) Ay/As 2) yls

(3) As/Ay @) sly
Freiea o 71 &, ‘Al dw R
g7

(1) z&g=

() FEd

(3) e

@) g™

T S FHeada afrERer & (o
& & S2) oAy ? ¢

() g &= &

() Rgaa W&a a7 &

(3) wmdiicor &

(@) T q FE T

Level-2/1212
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95.

96.

97.

98.

99.

100.

'Milpa' is a shifting cultivation practised
in:

(1) Thailand (2) Indonesia

(3) Mexico (4) North East India

If Marginal Rate of Technical
Substitution (MRTS) is constant, then
Production Possibility Curve will be :
(1) downward sloping concave

(2) downward sloping convex

(3) downward sloping straight line

(4) horizontal line parallel to X-axis

Secularism in Indian Constitution does
not include :

(1) No official religion of the state

(2) Doctrine of Benevolent neutrality
(3) Separation of state and religion

(4) Doctrine of Principled Distance
Marginal propensity to save (A =
change, y = Income & s = saving) =

(1) Ay/As Q) yis

(3) As/ay @) sly

In which of the following river, 'Majuli

river island' is situated ?
(1) Brahmaputra

(2) Kaveri

(3) Chambal

(4) Jhelum

Inter Tropical Convergence

(ITCZ) is located at :

(1) Polar region

Zone

(2) Equatorial region
(3) Temperate region
(4) None ofthese
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101.

102.

103.

104.

105.

@ ART, oA R ¥ opfea 78
?:

(1) formar @1 oy afez

() T & RE Hfey

(3) 3@E H AR qfex

(4) T Afe

(1) 0.88
(3) 125
TEuEr fet e a9
(1) STwmira= &

) TR q

(3) s A

(4) e |

Prtifted & @ @1 o W9 QA dUEE

o T g 7

(1) oifeRrat @1 feasor
(2) =fEF FTREE
() RESCRICERICIC
(@) TR dfags

WP RN, S 3K
THIAE & g g aes & |
AR ?

(1) @mEg
(2) =
() Fi
4) @i

Level-2/1212
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101.

102.

103.

104.

105.

[B]

The Gupta temple which is nof situated
in Madhya Pradesh :

(1) Vishnu Temple of Tigawa

(2) Shiv Temple of Bhumara

(3) Dashavatara Temple of Deogarh

(4) Bhitargaon Temple

When price of a good falls from ¥ 20
per unit to ¥ 15 per unit, its dema.nd
rises by 25 percent. Calculate price
elasticity of demand. (by percentage
method)
(1) 0.88
(3) 1.25

2) 1.0
(4) 0.33

The Harappan used to procure tin from :
(1) Afghanistan

(2) Gujarat

(3) Karnataka

(4) Rajasthan

Which one of the following is not
exclusively a federal characteristic ?

(1) Distribution of Power

(2) Judicial review

(3) Bi-Cameralism

(4) Rigid Constitution

Samudragupta adopted the policy of
Sarvakardan (pay tribute), Agyakaran
(follow order) and Pranamagaman (bow
to him) with ruler of :

(1) Kamarupa
(2) Kanchi
(3) Vengi
(4) Abhira

P.T.O.
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106.

“107.

108.

109.

SIRRTTT Geare A e e B
(1) acfes aftweet §

(2) =R uftrest

(3) wha, wfoeef 3

(4) Ry gfoest

ghfera ST -
TS
T

A. oM

B. HEFRT

C. TR
D. AETTE
g -
(1) A-(iv), B - (ii), C - (iii), D - (i)

(2) A-(ii), B - (iv), C - (iii), D - (i)

(3) A-(i), B - (ii), C - (iii), D - (iv)

(@) A-(iv), B - (iii), C - (i), D - (i)
Frifed & @, 1 ‘G9mar @ daear
T o 78 ??

(1) domeTs fasies

(2) g9Egar

(3) ghrga Ffiemcer
(4) 99 EgEX
FARERT B BNb B D A

(1) affes S6 am sfefEr &
e SR 8 |

(2) aifeiowrs St @R sfvfeodt H o1
feep & T@r S )

@) #@ IF amw ofeafEt @ @l
ST 1

(4) 35 9% @ gRegREr @ S
A B |

&7 Reryar

(i) wRRE TauieE e
(i) @ P I

(iii) =& A AR

(iv) TafEE

Level-2/1212
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106.

107.

108.

109.

Personal Bias is possible under :

(1) Random sampling
(2) Purposive sampling
(3) Stratified sampling

(4) Systematic sampling

Match the following :
Neolithic
Site

Salient feature

Earliest Neolithic Site

(i)
(ii) Ash Mound

A. Burzahom
B. Mahagara
C. Utnoor

D. Mechargarh (iv) Pit Dwelling

(iii) Rice Cultivation

Code :

(1) A-(iv), B-(ii), C - (iii), D - (i)
(2) A -(ii), B - (iv), C - (iii), D - (i)
(3) A-(i), B-(ii), C-(iii), D - (iv)
4) A-(iv), B - (iii), C - (i), D - (i)

Among the following, what is not

included in the concept of 'Equality' ?

(1) Protective Discrimination

(2) Homogeneity

(3) Reasonable classification

(4) Equal opportunity

In order to correct the situation of

deflation :

(1) Securities are purchased by the
commercial banks,

(2) Securitics arc under possession
by the commercial banks,

(3) Securities are purchased by the
central bank.

(4) Sccurities are sold by the central
bank.
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110.

111.

112,

113.

114.

115.

WM, SRl ¥ A% B PR fmr

(1) S (2) wrefg
(3) wafir ()
o @ A o (STm)
¥ foe R = B

(1) o siEf

(2) THREHER

(3) THIERIHS S

(4) TR

fo=-aa & gioera @1 ge7 A ®

(1) ¥z afe

) =

(3) e

(4) A gH

= & @ P9-T1 7T ® 7

(1) GDPyp=NDPysp + T B

(2) GNPrc = GNPyp + & STTTH FX

(3) NNPyp = NDPyp + R & 51t
& T I

(4) NDPgc = GDPyc—9&4 B™

Frfefeg § @ @F-at sy @ @

acl & que anit § 7

(1) L-a&t () ST

(3) p-adi 4 T-adt

423 dRegm g effEm (1976) &

gomEEy e dW g dfees @

Sl F efwia fhg 7w

(1) THrmE, YafRae, srEvsdl
(2) HANERE], ORI, ST@USl
(3) afde, i, 99
(4) W9y, dyfe, er@ved

Level-2/1212
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110.

111,

112,

“113.

114,

115.

[B]

The place, where Ashokan inscription
has been found :
(1) Ujjain (2) Patliputra
(3) Taxila (4) Sanchi
Marginal revenue of a firm is constant
throughout under ............... .
(1) Perfect competition
(2) Monopoly
(3) Monopolistic competition
(4) Oligopoly
The principle source of Indo-Greek
history is :
(1) Buddhist Text
(2) Coins
(3) Epigraph
(4) Travelogues
Which of the following is incorrect ?
(1) GDPwmp = NDPyp + Depreciation
(2) ' GNPgc = GNPyp + Net indirect taxes
(3) NNPuyp=NDPyp + Net factor

: income from abroad
(4) NDPgc = GDPgc — Depreciation
Which of the following Seismic waves

are similar to sound waves ?

(1) L-waves (2) S-waves
(3) P-waves (4) T-waves
As a consequence of the 42nd

Constitution Amendment Act (1976),
the following three terms were inserted
in the preamble of the Constitution :

(1) Socialist, Secular, Integrity

(2) Socialist, Republic, Integrity

(3) Secular, Democratic, Sovereign

(4) Sovereign, Secular, Integrity

P.T.O.
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116.

117.

118.

119.

120.

faddiga ga W BEa AEE FEmm
%.

(1) TeMias FHra=

(2) diffess AmRE

(3) A= A

(4) TEd qHE

I I=EC F GEEE, S AHEE g
dafa 78 3 -

(1) st =i B, 98 UoHifas 8

(2) [T wd SisT & g 9

(3) TREE-dET & w9 F fager

(4) 9T @1 g

I &, riEd W § dE-ar
‘qoaE’ 7@ 8 ?

(1) FR@vs-

() ExiETE

(3) 9 W

(4) FreH

qeedr A H GET AR F oA @
B T

(1) g=

@) w1

(3) &=

4) 939 @ & 7

M B A F veat, B 1975 9§

2000 % d@ WEdiEE AT G

we:

(1) &6, cfror  onfier, fogaam,
AR

(2) <, Tl Sreaia, Tl

() R, @F, &, i

(4) zefl, am, dovs, arefar

Level-2/1212
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116.

117.

118.

119.

120.

The map focus on specific information

is called :

(1) Political map

(2) Thematic map

(3) Physical map

(4) Global map

Identify the terminology, which is not
related to Feminism :

(1) The Personal is the Political

(2) Distinction between Sex and Gender
(3) Patriarchy as a Power Structure

(4) Will to Power

Which among the following states of
India is not 'land locked' ?

(1) Jharkhand

(2) Chhattisgarh

(3) Madhya Pradesh

(4) Karnataka

The interest elasticity of demand for
money in liquidity trap is :

(1) Zero

(2) Unity

(3) Infinite

(4) Between zero and one

Identify the group of countries, in which

democratic governments have been

established during 1975 to 2000 :

(1) Russia, South Africa, Vietnam,
Slovakia

(2) Turkey, Laos, Albania, Hungary

() Zimbabwe, Spain, Iran, Egypt

(4) TItaly, Greece, Poland, Latvia
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121. g@-1 & G-I & 79 Fifg ol R
g FE F A FE I B T H
-l -1
(v &r M) (e o)
(a) ToUd (i) . 1966
(b) FRETS (ii) 1960
(c) R (iii) 2000
(d) fafe (iv) 1987
(v) 1975
ze:

(1) (@ - (i), (b) - (iii), () - (iv), (d) - (v)
(2) (@ - (), (b) - (i), (c) - (ii), (d) - (iv)
(3) (a)- (i), (b) - (iii), (¢) - (@), (d) - (v}
@) (a)- (iv), (b) - (ii), (c) - (), (d) - (iiiy
T 9% S ST BEUE el g,
TR
(1) TFC %%

(3) AFC %

‘ST T Fedl © ¢
(1) o=m & @
() @ & diEm
(3) T ¥ I

(4) I A sfeyor
e’ g fear o ¢
(1) Bifthy & 3
(2) SIF el
(3) dF & A
(4) T\ THE I

TRAT F ‘TR’ ETTE ©
(1) Rimge (2) TmEiE
(3) W (4) e

122.

(2) TVC %
(4) AVC T%

123.

124.

125.

Level-2/1212
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121.

122,

123.

124.

125.

[B]

Match List-T with List-II and select the
correct answer by using the codes given

below :

List-I List-1I
(Name of State)  (Year of Formation)

(a) Gujarat (i) 1966
(b) Jharkhand (ii) 1960
(c) Haryana (iii) 2000
(d) Sikkim (iv) 1987
(v) 1975

Codes :

) (@ - (i), () - (iid), (©) - (), @ - V)
@) (@) - @), ) - (i), () - (i), (d) - (V)
@) (@ - (i), (b) - Giid), (¢) - (@), (@) - (V)
@ (@ - @), () - (i), (©) - (), (d) - (i)
The cost curve which is a rectangular
hyperbola is : -
(1) TFC curve
(3) AFC curve

(2) TVC curve
(4) AVC curve

'Jet Stream' blows from :

(1) West to East

(2) Eastto West

(3) South to North

(4) North to South

'Megalopolis' term was given by :
(1) Grifith Taylor

(2) Jean Gottman

(3) Von Thunen

(4) Lewis Mumford

The 'Entrepot' port for Asia is :
(1) Singapore (2) Bangkok
(3) Manila (4) Kolkata

P.T.O.
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126.

127.

128.

129,

freifed & @ @1 AT @ RER @
e § 7@ &7
(1) ffy &1 s
) Frecias g

(3) TgEEFAE
@) TR & R seR-T

#9 AR T & wen Rwdt & Ryewor &

() T A

(3) wHadt g &

(4) e fawdt &

fFa T @ oI dasT-Riad

STl IR g ¥ 7

(1) afrTg

(2) FAfeH

(3) e uRer

@) @

TRREg! §-Iod el & AR A

FYT I b BT -

(1) g-torm FaRer @t wig srEr
eI & @y far T e

(2) T Tm-AgT F -o1 A qA A
G % 7B & 7 o Ren om
a7

(3) @ @ H @ Peier geg-a
9 fmar s an)

(4) WerErS! A B THevel {8
e fepar o

Level-2/1212
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126.

127.

128.

129.

Among the following, what is nof in
conformity with the Idea of Democracy ?
(1) Rule of Law

(2) Periodic Elections

(3) Majoritarianism

(4) Charter of Rights for citizens

In the distribution of subjects between
the Union and the States, Cyber law
belongs to :

(1) Union list

(2) State list

(3) Concurrent list
(4) Residuary subjects

Politics of which state is polarized
along Vokkaliga-Lingayat castes ?

(1) Tamil Nadu
(2) Karnataka

(3) Andhra Pradesh
(4) Kerala

Identify the incorrect statement about
Mahalwari Land Revenue System :

- (1) The land revenue settlement was

done with the entire village or mahal.

(2) It was implemented in Doab area of
Ganga-Yamuna and some parts of
Central India.

(3) The demand of revenue was to
determine periodically.

(4) Mahalwari systcm was devised by
Alexander Reed.
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130. oFEIRG @ @ TP GEH Ad @

131.

132.

133.

gRyd TH B AT :
(1) ST - AT FEE g

) v AR 9 - o o T
(3) el qR e - W SiRdEEt
4) Fa Qe ae - o W A

T gl @ W RRE I8 weRe

Pl fawaRg @

(1) 3% IR IR @ & 7 GE
@1 ¥

() SR faast & & afEm

'3) P Sliftmr & IwRa

(4) g T - Rast @i gt

AMg 3fe @ Od AW (turning
point) S % ‘Gefge Bra’ (Jo QRm
F G-A) ¥ TIE

(1) & A= &1 S

(2) & H gHIA

(3) @ @ @

(4) $arEa @ I

TR e § S’ @ gfed e
g7

(i) =

(i) =

(iii) & TG

(iv) TR X

957?{3 H g :

(1) Gy (i)

@) G()aarGv)

(3) () aar i)

() (), Gi), (i) e (iv)

Level-2/1212
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130.

131.

132.

133.

[B]

Identify the incorrect pair of political
party and its founder leader :

(1) Jan Sangh — Shyama Prasad
Mukherjee
(2) Praja Socialist Party — N.G. Rz'mga
(3) Independent Labour Party — Bhim
Rao Ambedkar
(4) Congress Socialist Party — Acharya
Narendra Dev
The theme of Amir Khusrow's work
'Qiran-us-Sadain' is :
(1) Reconciliation meeting of
Kaiqubad and Bughra Khan
(2) Military expeditions of Alauddin
Khilaji
(3) Gospels of Nizamuddin Auliya
(4) Deval Rani - Khizra Khan episode

The turning point of human history
which is associated with 'Fertile
Crescent' (Part of West Asia) :
(1) Origin of Homo Sapiens
(2) Beginning of Cultivation

on

Christianity

What does 'Jat' denote in Mansabdari
system ?

(i) Rank

(ii) Salary

(iii) Military responsibility
(iv) Social Status

Choose the correct code :
(1) () & Gii)

@ ()& (v)

(3) (@) & (i)

@) (), i), Gid) & (v)

P.T.O.
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134, Wl 9 F omEwmEmel T @ R
e acar didl @l emavEEmEl @ gy

134. To meets the nceds of the present
generation  without compromising the
needs of future gencration is called :

AT FETT &
(1) s e (1) Economic Development
(2) el e (2) Sustainable Development
(3) @ e (3) Social Development
(4) e wgfx (4) Economic Growth
135, @R U4 qRdE dfeae § g bl 135. Identify the incorrect pair of Right and
aifte & Ffeget g i gef - the rclated Fundamental Right in the

Indian Constitution :
(1) Right to Education — Right to

(1) Frem @1 @R - e @&
Frecdom

e

(2) HAHT I WA -~ TH-@E F (2) Freedom of Conscicnce — Right to

AR Freedom of Religion
(3) @fa TR & IRHR - daafie (3) Right to Speedy Trial — Right to
SYERT & SRR Constitutional Remedies
(4) oqdETH & AR - @@ o (4) Right of Minorities — Cultural and
forem weidl atferep Educational Right

136. @E W, S ARG F Aomw § 78 136. The food item, which was not introduced
in India during Medieval Period :

T
(1) Fg (efioea) (1) Pumpkin
(2) ey (2) Potato
(3) =X (3) Tomato
(4)- wrr firdd (4) Red Chilli

137. SOFT 2011 & IR, IRd & g9 137. According to census 2011, the Male
QI & 8 ¢ literacy rate of India is :
(1) 753 % @) 77.1% 1) 753 % @) 77.1%
(3) 80.9% (4) 88.8% 3) 80.9% (4) 88.8%

138, fRsh amR dar & gy & Frefufad 138. Which concept is broadest in Forcign
T} F9-8 Srgaren g9 aAE § 7 Trade Accounts ?
(1) e geger (1) Balance of Payment
() R e (2) Balance of Trade
(3) i @mr (3) Capital Account
(4) 3arg @rar (4) Current Account

Level-2/1212
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139.

140.

141.

142.

143.

144.

@mﬁ«m%
[ = g GEHih)

1 A x100 @ 234000
A+ 4 -|

xlOO

&) 45_41\100 Q) n
Ro IR F I &

(1) oRmr ¥ SuFReER §
() e ¥ SuFEEE §
(3) T B she™ A

@ KOQHOQO%ERTE'FH%
qa § oE AR FEEE H g
(1) 24w, 1991

() 19T, 1991
(3) 159ad, 1991

(4) 2438, 1991

i o= # T e §Od
e @ o ?

(1) #Ebe

(2) o
() FErEr

@) =
da S “drdig dveE” § gaftd ¥ -

(1) e et

(2) 7% 3™

(3) s 9

(#) R

A FHEE A qE # g
de B §

(1) 10 @ 12
(3) 14 4 16
Level-2/1212
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139.

140.

141.

142.

143.

144.

|B]
Rate of inflation is equal to :
[A = Price Index]

+ 4,
x100 (7) XlOO

M

A-) + "l

A Az Lx 100

x100 (4) ——

3
Ay — 4

The 'Boer’ war is associated with :

(1) Colonialism in Asia

(2) Colonialism in Africa

(3) European History

(4) History of U. S. A.

The programme of economic reforms in

India was started on :

(1) 24 July, 1991

(2) 1July, 1991

(3) 1January, 1991

(4) 24 April, 1991

Which of the following coined the term

'geography' ?

(1) Humboldt

(2) Aristotle

(3) Eratosthenes

(4) Blache

The which
"Veerashaiva Sect" :
(1) Haridas Thakur
(2) Kanak Das

(3) Allam Prabhu
(4) Appar

In Indian parliament, the total number
of nominated members are :

(1) 10 2) 12

(3) 14 4 16

Saint, is related to

P.T.O.

Scanned by CamScanner



[B]

145

146.

147.

148.

149.

150.

Level-

. frfifea & @ 189w & Peegr
T TR T 7 A S g ?
(1) @y (2) B

(3) TER (4) ¥

SFFOET 2011 & STIAR, G SEE
g Sl 1 et sRied aRa 3
fpg g # 9rgr S § 7

(1) FemmemT wRer

(2) g

(3) T W

(4) uf¥Eq Fma

R Trandt |y @ ae o

(1) T & IR A wy §

() et gart &

() @WK & IR I F B SUET
q

(4jammé

g g w@ gl ok @ @ dm
A g ), Feand €

(1) a7 (2) SR

(3) Juyg (4) STER

Hrf GTeT aRER BN §

(1) ST °TeT - AR H FEE

(2) 99 1T - S FOPEA

(3) T wreT - A PN

(4) A aTeT - =T B PEE

T 2011 & FTFOMT & iR aifpet &
STgaR, A ARa R @

[30]

145.

146.

147.

148.

149.

150.

Which of the following 18th century state
is not considered as "Inheritor State" ?
(1) Awadh (2) Kerala

(3) Hyderabad (4) Bengal
According to census 2011 schedule

caste to total population is found
maximum in which state of India ?

(1) Himachal Pradesh

(2) Punjab
(3) Uttar Pradesh
(4) West Bengal

The Dinesh Goswami Committee was

concerned with :

(1) De-nationalisation of Banks

(2) Electoral reforms

(3) Steps to put down insurgency in the
north east

(4) The problem of the chakmas

The condition when the earth is closest
to the sun is known as :

(1) Apogee (2) Apehelion
(3) Perigee (4) Perihelion

Primary Deficit is equal to :

(1) Revenue deficit — interest payment
(2) Budget deficit — interest payment
(3) Fiscal deficit — interest payment

(4) Monetary deficit — interest payment

As per census 2011 (Final Data), the
sex ratio in Rural India is :

(1) 926 (2) 949 (1) 926 (2) 949
(3) 940 4) 919 (3) 940 4) 919
2/1212
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